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o LESOBBOBELNORES TEBORRBSLNDORES LESOBBOBELNORES TEBORRESLNORES
&S X 4 B | T oD AOKRES R 4 TiALDKE [ HE ADKRES B 4 B | LimhoDkE NAOKRES R 4 LHWmALDOLE | B NAOKRES
(m) (m) (kN/ ) FE At (m) (m) (kN/ ) (m) (m) (kN/ ) (m) (m) (kN/ )
’ 100kN/mM%# %% 1.00/ 0,00 ~ 3.01 147.80|3m#%#82%| 000 ~ 067 3.43 17.35| 100kN/mM%#B% % 1.00| 11.85 ~ 28.34 147.80|3m#%#B % 5| 20.00 ~ 28.34| 3.43 17.35
Fh st 1.00/ 3.01 ~ 10.79 100.00| Zhlu4t | 0.67 ~ 10.79) 3.00 15.16 ZFh st 1.00] 500 ~ 11.85 100.00| Zh st | 500 ~ 20.00] 3.00 15.16
5 100kN/mM%# %% 1.00/ 0,00 ~ 3.06 148.77|3m%#8%%| 0.00 ~ 0.56( 3.35 16.93| 100kN/m%#B% % 1.00/ 11.35 ~ 27.33 148.77|3m%#B % 5| 25.00 ~ 27.33| 3.35 16.93
Zhn st 1.00] 3.06 ~ 10.85 100.00| #h st [0.56 ~ 10.85| 3.00 15.16 Zhn st 1.00 500 ~ 11.35 100.00] #hllst | 500 ~ 25.00| 3.00 15.16
3 100kN/mM%# %% 1.00{0.00 ~ 294 146.68|3m#%#8%5|0.00 ~ 059 3.37 17.04]| 100kN/mM%#B% % 1.00| 11.48 ~ 26.38 146.68|3m#%#B% 5| 25.00 ~ 26.38| 3.37 17.04
Fh st 1.00/2.94 ~ 1073 100.00| Zh k14t | 059 ~ 10.73[ 3.00 15.16 ZFh st 1.00] 500 ~ 11.48 100.00| Zh st | 500 ~ 25.00| 3.00 15.16
4 100kN/mM%# %% 1.00/ 000 ~ 1.87 128.77|3m%#8% 5| 0.00 ~ 0.33 3.25 16.42| 100kN/m%#B% 3% 1.00| 13.89 ~ 23.43 128.77|3m%#B % 5| 20.00 ~ 23.43| 3.25 16.42
Zhn st 1.00{1.87 ~ 9.65 100.00| #h st [0.33 ~ 9.65| 3.00 15.16 Zhn st 1.00] 500 ~ 13.89 100.00] #hllst | 500 ~ 20.00] 3.00 15.16
5 100kN/mMZ# %% 1.00/ 000 ~ 2.56 140.22|3m%E#BZB| - ~ - - -| 100kN/mM#%#8 2% 1.00/ 10.74 ~ 21.50 140.22|3m%E#BZ % -~ - - -
Zhn st 1.00] 2.56 ~ 10.35 100.00| #h st [0.00 ~ 1035 2.84 14.35 Zhn st 1.00| 5.00 ~ 10.74 100.00| #h st | 5.00 ~ 21.50| 2.84 14.35
6 100kN/mM%# %% 1.00/ 000 ~ 2.67 141.99|3m%E#BZB| - ~ - - -| 100kN/mM#%#8 2% 1.00| 10.87 ~ 22.48 141.99|3m%E#BZ % -~ - - -
ZFh st 1.00| 2.67 ~ 1045 100.00| Zh k14t | 0.00 ~ 1045 2.88 14.55 Fh st 1.00| 5.00 ~ 1087 100.00] Zhiist | 500 ~ 2248 2.88 14.55
; 100kN/mM#Z#BZ % 1.00/0.00 ~ 2.37 136.93|3mZE#BRDH| - ~ - - -| 100kN/mM%E# %% 1.00| 11.26 ~ 21.04 136.93|3m%i#E% % -~ - - -
ZFh st 1.00| 2.37 ~ 10.15 100.00| Zhlist [ 0.00 ~ 10.15| 2.96 14.95 Fh st 1.00] 500 ~ 11.26 100.00] Zhuist | 500 ~ 21.04] 2.96 14.95
8 100kN/mM#Z#BZ % 1.00/0.00 ~ 2.44 138.15(3mZ#BRDH| - ~ - - -| 100kN/mM%E# %% 1.00[ 10.59 ~ 21.86 138.15|3m%i#B% % -~ - - -
Zhnst 1.00] 2.44 ~ 10.22 100.00f Zh L4t | 000 ~ 10.22| 2.64 13.35 Zhn st 1.00] 5.00 ~ 10.59 100.00| #h st | 500 ~ 21.86| 2.64 13.35
9 100kN/mZ# %% 1.00/ 000 ~ 1.23 118.54|3m%E#BZB| - ~ - - -| 100kN/mM#%#8 2% 1.00| 10.96 ~ 1557 118.54|3m%E#BZ % -~ - - -
Zhn st 1.00]1.23 ~ 9.01 100.00| #h st [0.00 ~ 901 2.23 11.28 Zhn st 1.00] 5.00 ~ 10.96 100.00| #h st | 500 ~ 1557| 2.23 11.28
10 100kN/mMZ# %% 1.00/ 0,00 ~ 1.40 121.28|3m%E#BZB| - ~ - - -| 100kN/mM%#8 2% 1.00| 10.62 ~ 15.10 121.28|3m%E#BZ% -~ - - -
ZFh st 1.00/ 140 ~ 9,19 100.00| Zh 4t |0.00 ~ 9.19[ 245 12.38 Fh st 1.00] 5.00 ~ 10.62 100.00] Zhuist | 500 ~ 1510 245 12.38
» 100kN/mM%# %% 1.00/ 0,00 ~ 1.40 121.28|3m%E#BZB| - ~ - - -| 100kN/mM#%#8 2% 1.00| 10.62 ~ 15.10 121.28|3m%E#BZ% -~ - - -
ZFh st 1.00/ 140 ~ 9,19 100.00| Zh kst [ 000 ~ 9.19 2.26 11.40 Fh st 1.00] 5.00 ~ 10.62 100.00] Zh kst | 500 ~ 1510 2.26 11.40
12 100kN/mM%# %% 1.00{0.00 ~ 1.23 118.52|3m%E#BZB| - ~ - - -| 100kN/mM%#8 2% 1.00{ 11.43 ~ 15.46 118.52|3m%#BZ % -~ - - -
ZFh st 1.00/1.23 ~ 9,01 100.00| Zh kst [ 000 ~ 901 241 12.19 Fh st 1.00] 500 ~ 1143 100.00] Zh st | 500 ~ 1546] 2.41 12.19
13 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
ZFh st 1.00/ 000 ~ 6.63 83.64| #hilst (000 ~ 6.63] 212 10.74 Fh st 1.00] 500 ~ 1042 83.64| #hilst | 500 ~ 1042| 212 10.74
14 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Fh st 1.00/ 000 ~ 575 71.89] #hlist | 000 ~ 575 1.81 9.14 Fh st 1.00|] 500 ~ 6.49 71.89] #hbist | 500 ~ 6.49| 1.81 9.14
15 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
st -l -~ - -| Zh st -~ - - - ZhLst - -~ - -| Zhust -~ - -
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fare) ITRFOBHOESLHDKRES TRFOHEEIEHOKRES TRFOBHOESLHDOKRES TRFOHEESEHDORES
=2 = i AN B AN ol = = AN =3 i AN = 5
16 100kN/ M#E#EZ 5 -l -~ - -[3mEBZS[ - ~ - - -| 100kN/ Mm% %% - -~ - -|3mZEEZD -~ - - -
Zhis -l -~ - -l st | -~ o - -l zhust - -| Thust e -
100kN/m%#B % % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM%#BZ % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhn st ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM%#BZ % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/mMZ B2 % ~ ImEHEAD ~
Zhn st ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM%#B % % ~ ImEEZD ~ 100kN/mMZ B2 % ~ ImEHEAD ~
Zhnst ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM%#B% % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM%#B %% ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/m%#B % % ~ ImEBEZD ~ 100kN/MZ B2 % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM%#B % % ~ ImEBEZD ~ 100kN/ Mm% B2 % ~ ImEHEZD ~
ZhLlst ~ Zh st ~ ZhLlst ~ Zh st ~
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